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QUESTION 1

When comparing PIM-DM and PIM-SM, which multicast components are only found with PIM-SM in multicast routing?
(Choose two.)

A. IGMP querier

B. Rendezvous point
C. Bootstrap router
D. Shortest path tree
E. Designated router

Correct Answer: BD

QUESTION 2
An administrator implements interim accounting for guest users so that ClearPass can track the amount of bandwidth

that guests upload and download. Guests that abuse bandwidth consumption should be disconnected from the network.
The administrator configures the following on the AOS-CX access switches:

Accessl(config)# ip dns host cppm.arubatraining.com 10.254.1.23 vrf mgmt

Accessl(config)# radius-server host cppm.arubatraining.com key plaintext arubal23 wrf mgnt

Accessl(config)# aaa group server radius cppm

Accessl(config-sg)# server cppm.arubatraining.com vrf mgmt

Accessl(config-sg)# exit

Accessl(config)# aaa accounting port-access start-stop interim 5 group cppm

Accessl(config)# radius dyn-authorization client cppm.arubatraining.com secret-key plaintext arubal2: vrf mgmt replay-
protection disable

After performing this configuration, the administrator notices that guest users that have exceeded the guest bandwidth
limit are not being disconnected. Upon further investigation, Access Tracker in ClearPass indicates a disconnect CoA
message is being sent to the AOS-CX switch.

What is causing this issue?

A. RADIUS change of authorization is not enabled on the AOS-CX switch.

B. Bandwidth consumption of the guests is not being reported by the AOS-CX switch.

C. NTP is not configured on the AOS-CX switch.

D. There is a time discrepancy between the AOS-CX switch and ClearPass.

Correct Answer: A

QUESTION 3

An administrator is configuring BGP and has two connections to a service provider to two different local routers.
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Which BGP metric should the administrator configure to influence which local router the service provider will use to
reach certain routes?

A. Weight

B. Multiple exit discriminator
C. Local preference

D. Origin

Correct Answer: C

QUESTION 4

Examine the attached diagram Two AOS-CX switches are configured for VSX at the access layer, where servers
attached to them. An SVI interface is configured for VLAN 10 and serves as the default gateway for VLAN 10. The ISL
link between the switches fails, but the keepalive interface functions. Active gateway has been configured on the
switches.
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What is correct about access from the servers to the Core?

A. Server 2 can successfully access the core layer via the keepalive link.

HPE6-A73 VCE Dumps | HPE6-A73 Practice Test | HPE6-A73 Study Guide 3/4


https://www.passapply.com/hpe6-a73.html
https://www.passapply.com/hpe6-a73.html
https://www.passapply.com/hpe6-a73.html

VCE & PDF https://www.passapply.com/hpe6-a73.html
2024 Latest passapply HPE6-A73 PDF and VCE dumps Download
PassApply.com

B. Server 1 and Server 2 can communicate with each other via the core layer.
C. Server 2 cannot access the core layer.
D. Server 1 can access the core layer via both uplinks.

Correct Answer: B

QUESTION 5

An administrator will be deploying NetEdit to manage an Aruba solution. What does NetEdit support?
A. Manages AOS-CX switches and Aruba gateways

B. Support for Aruba-supplied security updates

C. Tracks configuration and hardware information

D. Can be purchased as a VM and/or hardware appliance

Correct Answer: A
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